A £ 0l & AF & S
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g 2si=sdE & NS0
el EstAlE 2e (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
St 52,200,321 44,299,223 7,901,098
= 3,664,700
Jl 635,062
Al 3,820,351
Ea 44,080,208
Zstoizds ¥ NF2aD|e3= 12,908,303 11,341,890 1,566,413
Al 1,464,000
= 11,444,303
ESAIE el 8,511,878 7,803,490 708,388
Al 56,000
= 8,455,878
EFEINY 28 N2 2,804,102 2,439,185 364,917
207 ARl 15,000 15,000 0
01 H2E4H| 15,000 15,000 0
O==2=it 2SEI 29
15,000,000 15,000
306 E¢= 1,912,102 1,729,185 182,917
01 £g= 1,912,102 1,729,185 182,917
OSFE3 MY 24| 1,912,102,000& 1,912,102
308 XtXIEMSO0IE 877,000 695,000 182,000
11 SIS0t oA A A 877,000 695,000 182,000
ode=st 243t 140,000,000& 140,000
O===stie 180,000,000 180,000
O== 0lBI7E #OtA 25,000,000 25,000
OASH Z02 EE2ME 'SFLive' 23t
60,000, 0002 60,000
OIABOIE 2 T2UY 5B 2Y
28,000,000& 28,000
O28= M= St X 0t 82
44.,000,000& 44,000
OU=2 MZE XIAAS<AIEE HEXI2>
100,000,000 100,000
OORIZRIFAILI B2l Hel>
120,000,000& 120,000
o2 330l Z=2X8E
180,000,000 180,000
-2t 29 447,886 485,368 A37,482
308 AHXIHMSO0IA 400, 186 394,168 6,018
11 S [2S0 e 4 EAS A 400,186 3%4,168 6.018
oIzttt 29 400, 186,000 400,186
403 AXIEHMSAH=0lH 47,700 91,200 A\43,500
02 SISt 2 S A A 47,700 91,200 243,500
O=MUI3 2= SAt 20,000,000& 20,000
OR= =& 10,000,000 10,000




2A:

EcIpS (el

g 2si=sdE & NS0
s 2etAld 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OYSSZEE(ATEAY 190 Z8)
2,100,000 *1CH 2,100
OZMEH(EEZME Y AFel)7e
5,600,000 *14 5,600
O&AM 7 10,0003 2502 *4= | 10,000
EFEs=z2 24 1,922,981 2,726,374 A803,393
308 XtXIEMSO0IE 1,681,981 2,214,174 A532,193
11 SIS0t oA AS A 1,681,981 2,214,174 /532,193
Oo==Esl=z2 29
1,028,091,000& 1,028,091
O =WIEFSUN 13,000,000 13,000
O AISZt 2435t X2 A
10,000,000 10,000
OCtet JI=EA Alel=
310,000,000 310,000
OZ=FAIUIOt 50,000,000 50,000
OotLAZME 49,000,000 49,000
OSF2CIAI0 150,000,000 150,000
ogd== 2aASTAY 45,000,000 45,000
O==F0tE NI =UHE
26,890,000& 26,890
403 AXIEHMSA=01d 241,000 512,200 A271,200
02 SII2S0 e H=E 2 E AL 241,000 512,200 A271,200
OXIGIPIT BtS OIZAl ClOId SA
45,000,000 45,000
oor2d t=atad &4
50,000,000 50,000
OE828 F&x¥ &3 100,000,000& 100,000
OE= 2,000,000 *1CH 2,000
O=AE HHAIAE 42,000
O&&IHhct AlIAE
29,000,000& » 14 29,000
OZEESEd AlAH 7,000,000 *14] 7,000
OLstE SZLIHAAE
500, 000& * 12K 6,000
OXAIA =SS AN
100,000 +20H 2,000
NESF=2HdH 29 2,161,503 971,845 1,189,658
308 AHXIEMSOIE 1,297,072 730,055 567,017
1 SIS0t EAS A 1,297,072 730,055 567,017
OMEF23HdH 29 867,072,000& 867,072
OKN=Z JIESH AlelE
254,000,000 254,000
oged== 233 80,000,000 80,000
o2t e g &2 S943
48,000,000& 48,000
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g 2si=sdE & NS0
s 2etAld 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMNMSF23HIE JI=EAl
48,000,000& 48,000
401 AIZHIX R0 310,131 151,080 189,051
01 AlZH| 301,742 150,000 151,742
ON=SF2tdH eI+ JHESAL
301,742,000 301,742
02 22/l 6.216 0 6.216
OMEFEZ3HHE St HESAH
301,742,000 *2.06% 6,216
03 Al 2 CHYI 2,173 1,080 1,093
OME=E3dH I HESAH
301,742,0002%0.72% 2,173
403 AXIEHHSAH=Z01d 554,300 90,710 463,590
02 SVI2S0 U H=E P EAIEI 554,300 90,710 463,590
OKN=F2otdy 2+ Wkl
18,000,000 18,000
ORUSE MIIHHE SEIA
32,000,000 32,000
oY 28 &8 &1 20,000,000 20,000
O39E U HE SAt 210,000,000 210,000
OYPE TRH(AZEYON =&
2,100,000 «3CH 6,300
OFdd & FX 28,000,000 *14] 28,000
O14ds 0013 <204 33,000
Og& ol=2 12,000,000 * 14! 12,000
OLlot: o013 5,000,000 *14 5,000
otusk ool3a 2,400,000 *14] 2,400
OEPI= V=] 13,600,000 * 14 13,600
OSg &= MO 110,000,000 *14] 110,000
O=2HH 150,000 *60H 9,000
oA=& 2kt 11,000
OuF=E 2kt 170,000 *60H 10,200
OAFE AXH2EHI0IAE)
160,000 *5H 800
O%it=E 2 60,000
ORU H0t= 47,000,000& *14] 47,000
ORU &&S 13,000,000 » 14 13,000
Oouot=& g2es)l
17,000,000 x14] 17,000
STUERHE 2g 262,795 238,966 23,829
308 AFAIEHMSOIE 220,695 207,637 13,058
11 SI[2S0 e EAS A 220,695 207,637 13,058
OSFUE23NIE 2Y
220,695,000 220,695
403 X SHHMSAH=01H 42,100 31,329 10,771
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s 2etAld 2 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
02 0| 2SOCHet A2 E 2 EFALZ I 42,100 31,329 10,771
OFE WAl L F=IISA 36,000,000& 36,000
0YRE BRH(AZEN ZEH
2,100,000 *1CH 2,100
oM ¢ 10,0003 = 1002 42| 4,000
SEEZ=NEH 29 260,343 235,510 24,833
Al 3,000
= 257,343
101 eI t| 32,581 31,748 833
M IIRINZ2Z2XSEs 32,581 31,748 833
oO2&2s=XdH 2g(2Y) 32,581
OJl2= 76,960 2B * 124 19,087
OrgsY 76,9603 x2H «57 8,774
OuSH| 5,0002 x2H 124 1,240
O=gt| 5,000& x2H 124 1,240
OE==e 1,440
. HHA 40,0003 *2H+6H 480
Z=HI= 80,0003 +2H+6& 960
OFEFOHI 400,000& x2H*12] 800
201 2| 201,722 177,722 24,000
01 Ar22eltl 116,722 110,722 6,000
Oget=2H| 111,922
ORI FHIAIAE 300,000& =123 3,600
OI|otH 22| CHEH 2
500,000& 123 6,000
oszletdze|id 249
250,000& =123 3,000
OFLz2e|Hd 29
3,544, 1403+ 128 42,530
Osgd 92
300,000& 123 3,600
OAYoMEHES 150,000& *12& 1,800
O2xdat2el =z
300,0002 123 3,600
OZH0IX sX&el 89,2
300,000& =123 3,600
OA2E 7Y 500,000 =12 6,000
OFMAZRE 72 1,000,000 & *33! 3,000
OstEa & 4 A28 7Y
300,000& 123 3,600
OUlEZA=sZ 12,0003 +35+ 128 432
O=E2s H& 1,000& x10,0005 10,000
ogZIblE stz 7Y 1,000,000& 1,000
OoZdla4 1,500,000& =123 18,000
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g 2si=sdE & NS0
Rl 23AIE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=salstn T2 24
2,160,000& 2,160
(©F=PNg=3 4,800
O=AHI 150,000 «12& 1,800
O&=7| 50,000 x50 * 122 3,000
02 S5=g4l 56,000 38,000 18,000
0=s2= # HAl 40,000
OFSPIEeA=) 2,500,0002 12& 30,000
Ogolr=ER= 150,000 «12& 1,800
Osties 150,000« 12& 1,800
OBMHRYE= 80,0002 *x2& 160
OXNZME SN 2 2,640,000& 2,640
Oxgac| s+ 3,600,000& 3,600
OAIEEbBI= X 16,000
OHIE Al82 RXIZ2lY
11,000,000 11,000
OAr2 HIS=+d 1,000,000 1,000
ORUAIE FII HEHAL
4,000,000 4,000
03 A2 I 29,000 29,000 0
(ORI E P gu 20,000,000 20,000
OJIE=EHEA 9,000,000& 9,000
206 M=l 3,000 3,000
01 MZH| 3,000 3,000
orxzd 2% M=H 3,000,000 3,000
301 EtE NS 23,040 23,040 0
Al 3,000
o 20,040
14 0Bt 2a s 23,040 0 23,040
OZA=Z(E20Y 2¢)
80,0002 x42| x5 £+ 123 19,200
OYALY(SSHED 2Y)
80,0003 x42|x 12 X123 3,840
Al 3,000
Ea 840
ETEsE 28 N 153,741 140,392 13,349
Al 10,000
[Ea 143,741
307 212+01& 153,741 140,392 13,349
Al 10,000
s 143,741
03 M EE2SHIEX 183,741 140,392 13,349
O=23d HI=2EHl 2x 163,741
OAIS=&I2H] 55,156,000 55,156
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el EstAlE 2e (St &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
Al 10,000
= 45,156
OAR&e124H| 75,229,000 75,229
O=22+d EH0IAl 22
110,000& * 12& 1,320
O4UHEE AIEX 232
12,240,000 12,240
OO0t&& ==2lt| 1,000,000& 1,000
O=3td 2tgal & 312/a|
5,000,000& 5,000
OR*=Z3td HxI0H 1,300,000& 1,300
OAFRI12] Y XHH| 2,49%,000& 2,4%6
T2 Zetatg XI& 160,000 190,000 A30,000
Al 43,000
= 117,000
307 QI2Hol M 160,000 190,000 230,000
Al 43,000
i 117,000
02 QIHBAAIHE X 58,000 96,000 A38,000
o= 23tuF 18,000,000& 18,000
Al 9,000
= 9,000
© 7 H205 g2t 23,000,000& 23,000
Al 7,000
= 16,000
O=S=E3t M23% Y2t 17,000,000& 17,000
Al 4,000
i 13,000
04 CIZHSHALAIRIE & 102,000 94,000 8,000
OXME=23HAl 20,000,000& 20,000
Al 13,000
= 7,000
O3t =0l 10,000,000& 10,000
Al 5,000
i 5,000
Oz 2HHa 2l 25,000,000& 25,000
OTHOHES D] =01 &l 13,000,000 13,000
Al 5,000
= 8,000
OER S2H 21,000,000 21,000
OZxI=elael M 13,000,000& 13,000
gHa Jlg2 29 338,527 188,950 149,577
3¢ HES 266,477 188,950 77,527
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FH: li=ds & NIE2IBRH
Rl 23AIE 2t EEED
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 BAt - SHIMNEZ 266,477 188,950 77,527
o%NAYIga 29 266,477,000& 266,477
404 SAEBHE2EEZ 72,050 72,050
01 SAt - SHAZ2HES 72,050 72,050
ogNAYIga 2Y 72,050,000 72,050
NE2sol=s dE 4,396,425 3,538,400 858,025
Al 1,408,000
= 2,988,425
KNS ZS0=SHAL IHZ 17,125 17,800 AB75
201 B2 AL| 2,600 2,600 0
02 B22gH| 2,600 2,600 0
OALTE RANES (B30l Z2XHE)
2,000,000& 2,000
OFIIL2(330I2 ZE2XE)
50,000+ 12& 600
202 04dl 2,400 2,400
01 =LHO4 L] 2,400 2,400
O=20{y| 2,400,000& 2,400
203 AR F=&lH| 2,000 2,000
03 A=A Z=XY| 2,000 2,000
OX A2 SHAl LLEX
2,000,000& 2,000
204 AR AY| 10,125 10,800 AB75
03 EEg=&| 10,125 10,800 A675
OteIg =l 50,0002 16 x 12& 9,600
OU2IE s (AlZHEEXI0HS)
50,0002 *35/40% 1« 12 525
SMESFNAH A S SHA 2,900,000 2,400,000 500,000
Al 1,000,000
= 1,900,000
307 212+01 A 2,900,000 2,400,000 500,000
Al 1,000,000
i 1,900,000
05 QIZIRIEr S 2,900,000 2,400,000 500,000
OSLEFMIAH A AR
2,900,000,000& 2,900,000
Al 1,000,000
= 1,900,000
oegae X 46,000 46,000 0
Al 8,000
= 38,000
307 212+01 A 46,000 46,000 0
Al 8,000
= 38,000
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. 230aTE Y NASH|HRE
el XNYIstilzs &8 (CH9: &S1)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
02 QI AANEE X 46,000 46,000 0
ONdegat I3 37,000,000& 37,000
Al 8,000
[ia 29,000
OX0PI= %2  d=g&3dlz
9,000,000& 9,000
= F4d QIAEC KIE 4,600 4,600
307 212t01& 4,600 4,600
04 QIRFHAIAIH 2 = 4,600 4,600
OFIIAFS 4,600,000 4,600
=F adadgEH I3 7,700 5,000 2,700
307 212t01™ 7,700 5,000 2,700
04 QIZHHAIAIH 2 £ 7,700 5,000 2,700
OsFAdAH8EH FI|HF3
2,700,000 2,700
O0Pte S%2 & E=EFFAUZ
5,000,000& 5,000
=EF B2 AHAES N 3,000 3,000 0
307 212t01™ 3,000 3,000
04 QIRHFHAIAIH 2 = 3,000 3,000
OSFRAIANAES HIIAFS]
3,000,000& 3,000
2HE == SHSE0l AL 480,000 450,000 30,000
Al 200,000
ia 280,000
307 212+01& 480,000 450,000 30,000
Al 200,000
T 280,000
04 QIZFHAIAISE B = 480,000 450,000 30,000
OZtE 2 oS0l At 480,000,000 480,000
Al 200,000
s 280,000
&= HEHQCRSSOIHE HIAEIE 160,000 160,000 0
Al 80,000
fia 80,000
307 212+01™ 160,000 160,000 0
Al 80,000
= 80,000
04 CIZHHAIAIS E & 160,000 160,000 0
Ox= HECIKSSOIHE HIAEI
160,000,000& 160,000
Al 80,000
s 80,000
SMAHBIAEE 200,000 200,000 0
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FH: 2ellisds & NSE23H] =
el XNYIstilzs &8 (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
307 QI2HOl A 200,000 200,000
04 QIZISHAIAIRIE & 200,000 200,000
OSLMHHAEIY 200,000,000& 200,000
HA Bl StoHHIAEIY 54,000 54,000 0
307 QI2tol ™ 54,000 54,000
04 QIZHHAIAIE E X 54,000 54,000
OY AN &Hi?l ototHIAEIY
54,000,000& 54,000
HE2 HRE JIA 45,000 45,000 0
307 2I2+0l ™ 45,000 45,000
04 CIZHSHALAIRIE & 45,000 45,000
O2HE R HLLEINRA 45,000,000& 45,000
SA= =H 196,000 50,000 146,000
Al 80,000
i 116,000
307 QI2Hol ™ 196,000 50,000 146,000
Al 80,000
i 116,000
04 QIZHHAIAIE E X 196,000 50,000 146,000
ORAl&= =HI 196,000,000& 196,000
Al 80,000
= 116,000
S4B AZ2GSHA 70,000 90,000 220,000
Al 20,000
= 50,000
307 QI2Hol A 70,000 90,000 220,000
Al 20,000
i 50,000
04 QIZHHAIAIE E X 70,000 90,000 A20,000
O=4t B0 A=Al
70,000,000& 70,000
Al 20,000
= 50,000
&S 0HSHHIAEIY 13,000 13,000
307 QI2HOl A 13,000 13,000
02 QIRHEAAIH B X 13,000 13,000
OM DS HIAEIY 13,000,000 13,000
EF HEZ2 LTAHO0 80,000 80,000
307 QI2Hol M 80,000 80,000
04 QIZHHAIAIRIE & 80,000 80,000
O 24E2 2% A0 80,000,000 80,000
== Edl Za=H 30,000 0 30,000
307 gI2tol ™ 30,000 30,000
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g 2sisdE & AF2S0|e=s
2o NGEstois &8 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 QIZHHAMAIH 2 & 30,000 0 30,000
o=+ Ecl23 =AM 30,000,000& 30,000
=S4 THEAHAEIE 50,000 0 50,000
Al 20,000
o 30,000
307 @120l & 50,000 0 50,000
Al 20,000
s 30,000
04 QIZHHAIAIH E X 50,000 0 50,000
OS4t MEHAEIE 50,000,000 50,000
Al 20,000
T 30,000
S5 A8 ZEA 30,000 30,000
307 elzto| & 30,000 30,000
04 CIZHHAMAMH 2 & 30,000 30,000
O== As S23=M 30,000,000& 30,000
RPAIE (e & 10,000 10,000
307 @120l & 10,000 10,000
04 QIZHHAMAIH 2 £ 10,000 10,000
OXAIE (FRFFg) 2 & 10,000,000& 10,000
St 22l 6,792,218 12,066,320 A5,274,102
= 3,664,700
7l 63,920
Al 1,370,613
o 1,692,985
SN 2&22 6,622,318 11,913,420 A5,291,102
= 3,633,700
Jl 63,920
Al 1,333,113
Ea 1,591,585
23 A2l 448,576 372,623 75,953
Al 145,448
= 303,128
101 @124H| 142,096 136,458 5,638
Al 71,048
[Ea 71,048
04 JIZtNZ22 NS+ 142,096 136,458 5,638
OZstM el 2= 142,096,000 142,096
Al 71,048
o 71,048
201 =3 68,600 63,600 5,000
01 At22t2lt] 45,820 45,820 0
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M 2o 2el
&elr 28 2E2d EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ogt+==H| 45,820
O2=tetl cIZ2x M=
5002 20,0005 10,000
O2sti etZEHl =378
2,000,000 2,000
O22t 2tel 23| 7Y
30,0003 *20H 600
O=3 M 2 S=X22
70,0008 %38 x123] 2,520
OSZEsH foIBdl & OV 22| E4 =+
== 1,800,000& «12& 21,600
025 A=+ B2 &Y X
7,000,000& 7,000
OX=223l 22 34 =&
2,100,000 2,100
02 S3=gHl 22,780 17,780 5,000
osE2= & HA 22,780
Osties 165,000& «12& 1,980
oNIIR3 800,000& 122 9,600
Odote= 2= 100,000& * 122 1,200
O2tM ANd= RAE+
10,000,000& 10,000
202 04| 2,400 2,400
01 SLHoIH 2,400 2,400
o220l 2,400,000 2,400
203 HE=AH] 1,800 1,800
03 A= PR FAI| 1,800 1,800
OZ3tae| R 1,800,000 1,800
206 MH=H| 8,200 8,200
01 M=4l 8,200 8,200
SR & 2=+ F| 8,200
OM=&g |5 600,000& * 122 7,200
ORM=HM & JIE 2elos 7
1,000,000& 1,000
301 EtE N = 68,400 68,400 0
Al 68,400
o4 gstsdstis 2,400 2,400 0
OAMANEFEEM d-d5rd XA
2,400,000& 2,400
Al 2,400
14 JIEt2d= 66,000 66,000 0
OANNEFEEM HSESAL
66,000,000 66,000
Al 66,000
307 lztol & 6,000 6,000 0
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 6,000
02 QNS EX 6,000 6,000 0
OANXNEFEEaM SHAA XA
6,000,000& 6,000
Al 6.000
401 AlEHIZ 201 151,080 85,765 65,315
01 AlZ2H| 150,000 85,000 65,000
O2stM =RAE+ 150,000,000 150,000
03 A& S CHYI 1,080 765 315
CELVIEIER=
150,000,000 *0.72% 1,080
AASHE x 2 60,110 59,336 774
Al 30,055
o 30,085
101 @124H| 34,330 33,916 414
Al 17,165
o 17,165
04 JIZtN22 XS+ 34,330 33,916 414
oggsd UL 23 34,330,000& 34,330
Al 17,165
o 17,165
201 el 25,780 25,420 360
Al 12,890
= 12,890
01 At2teltl 14,754 14,75 N2
o2g 223 Y 14,754,000 14,754
Al 7,377
Ea 7,377
02 S3=gHl 11,026 10,664 362
osE2= & HA 6,240
Osties 210,000 * 122 2,520
Al 1,260
s 1,260
OFSPIEei=) 240,000 * 122 2,880
Al 1,440
Ea 1,440
Ok 70,000& * 122 840
Al 420
o 420
OAE=E RAE= 4,786,000 4,786
Al 2,393
= 2,393
o SE2el MM A=A 127,840 121,904 5,936
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 63,920
Al 31,960
s 31,960
101 21AH| 127,840 121,904 5,936
Jl 63,920
Al 31,960
Ea 31,960
04 JIZtN2 2N S 2+ 127,840 121,904 5,936
OS5 oHE Il (5)
127,840,000 127,840
Il 63,920
Al 31,960
Ea 31,960
AASE SEIHIA 1,330,000 8,098,513 6,768,513
= 931,000
Al 199,500
[Ea 199,500
207 ARl 30,000 250,000 /220,000
= 21,000
Al 4,500
= 4,500
NEEEETT 30,000 250,000 A220,000
ooIgSE UEZE N2ZAM
30,000,000& 30,000
= 21,000
Al 4,500
s 4,500
401 AIEHIZ SO 1,300,000 7,848,513 6,548,513
= 910,000
Al 195,000
s 195,000
01 Al&H| 1,300,000 7,828,572 6,528,572
O3+ EXL 1,300,000,000& 1,300,000
= 910,000
Al 195,000
[Ea 195,000
SVHNE 2 (2= el 24) B3 7,000 0 7,000
= 4,900
Al 1,050
[Ea 1,050
401 A2 HIRL 201 7,000 0 7,000
= 4,900
Al 1,050
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[Ea 1,050
01 AlZ2H| 7,000 0 7,000
O=3t M etlier Hd| 7,000,000 7,000
= 4,900
Al 1,050
o 1,050
HHI|ES(AE) dA2A2IAY 135,000 146,044 A11,044
= 94,500
Al 20,250
= 20,250
401 Al HIZ S 0HbI 135,000 146,044 A11,044
= 94,500
Al 20,250
s 20,250
01 Al&H| 135,000 145,000 10,000
QA S(MS)YAIZCIAY
35,000,000& 35,000
= 24,500
Al 5,250
= 5,250
O== Sk 458 AYIHAL
100,000,000 100,000
= 70,000
Al 15,000
= 15,000
AMXE 23 2+FH| 9,000 29,000 /20,000
= 2,700
Al 3,150
s 3,180
401 Al HIZL 01| 9,000 24,000 A15,000
= 2,700
Al 3,180
[Ea 3,180
01 Al&H| 9,000 24,000 215,000
OMMIEHd S HLHE FH|
9,000,000& 9,000
= 2,700
Al 3,180
o 3,180
MUZSIH ALY 312,500 50,000 262,500
= 125,000
Al 93,750
o 93,750
307 212+01& 312,500 50,000 262,500
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SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 125,000
Al 93,750
s 93,750
02 QItESAIEE X 312,500 50,000 262,500
OUIUSH, MMELSH AL AHEOR
50,000,000 50,000
= 20,000
Al 15,000
2 15,000
OFOI= 25i0] AR, BIRONHT 22t
TS NARMSZ] 50,000,000& 50,000
= 20,000
Al 15,000
s 15,000
ol 22ete 2dE FE ME0| Jis
gt DIEtH A 2EH= 212,500,000 212,500
= 85,000
Al 63,750
o 63,750
SWAEZSHEEAIS 202,500 152,500 50,000
= 81,000
Al 60,750
s 60,750
307 @I2t01 & 202,500 152,500 50,000
= 81,000
Al 60,750
o 60,750
02 QA HAIEE X 202,500 152,500 50,000
O WA 2 HES A
202,500,000 202,500
= 81,000
Al 60,750
Ea 60,750
DEEIY 2SAY 199,000 147,500 51,500
= 79,600
Al 59,700
Ea 59,700
307 gl2to| & 199,000 147,500 51,500
= 79,600
Al 59,700
= 59,700
02 QI HAANEE X 199,000 147,500 51,500
ONHEIE HEANE 199,000, 000& 199,000
= 79,600




2A:

EcIpS (el

M 2o 2el
Cel: 23 EE2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 59,700
s 59,700
Ae PE2etra 2SI ALY 180,000 0 180,000
= 90,000
Al 45,000
= 45,000
307 lztol & 180,000 0 180,000
= 90,000
Al 45,000
o 45,000
02 LB HAHE L 180,000 0 180,000
OS4 SFP BYU0I SH JIS5 L A
e 180,000,000 180,000
= 90,000
Al 45,000
o 45,000
AASE W 2at382t ZEAMY 100,000 0 100,000
207 ARl 100,000 100,000
01 H1E4H] 100,000 100,000
OUIUSH U SESX B8 JI=2P4 U E
g4 ZAES 100,000,000 100,000
M2 (2= ead 22)F| 2,800,000 2,010,000 790,000
= 1,750,000
Al 525,000
= 525,000
307 elztol & 300,000 200,000 100,000
Al 150,000
Ea 150,000
02 2IZHBYAIHE A 300,000 200,000 100,000
Ol HAllE SSHAME 29
300,000,000 300,000
Al 150,000
o 150,000
401 Al HIZL S 0HYI 2,500,000 1,790,000 710,000
= 1,750,000
Al 375,000
s 375,000
01 Al&HI 2,500,000 1,790,000 710,000
OZ3M(2F ead Ly)7F9 EX0HY
2,500,000,000& 2,500,000
= 1,750,000
Al 375,000
s 375,000
SN2 (224 ) ZHIArS 600,000 0 600,000




2A:

X XH -
o=

EcIpS (el
=3t 2t

Cel: 23 EE2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 420,000
Al 90,000
s 90,000
401 Al HIZ R 0HbI 600,000 0 600,000
= 420,000
Al 90,000
Ea 90,000
01 AlZH| 600,000 0 600,000
OS2 EXI0H 600,000,000 600,000
= 420,000
Al 90,000
= 90,000
SEZIIM(F 4SCARA)ESFHIAIY 110,792 0 110,792
= 55,000
Al 27,500
= 28,292
401 Al HIZL 2018 110,792 0 110,792
= 55,000
Al 27,500
= 28,292
01 Al&H| 110,000 0 110,000
O AZRARL FHEY)
110,000, 000& 110,000
= 55,000
Al 27,500
T 27,500
03 A2 THYI 792 0 792
0T AZOARL ZHFY)
110,000, 0002 *0.72% 792
dSEs s ¢d 169,900 152,900 17,000
= 31,000
Al 37,500
o 101,400
ZetRet 28X 69,000 69,000 0
Al 22,000
o 47,000
307 @20l & 69,000 69,000 0
Al 22,000
s 47,000
02 QBN ER 69,000 69,000 0
oclgetn EMuSstE 14,000,000 14,000
ogietn A2 | JI2H
3,600,000& 3,600




FA: 2SI
M 2 2l
thel: dSI3 Hs 2H (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OcigfEty HAH SiZ=a HEus
4,400,000& 4,400
o8& FEURE3 MdSHAWE
3,000,000 3,000
odgsgn dssed(dEe)2t SUHE Kl
Al 44,000,000 44,000
Al 22,000
s 22,000
HE HllA X2 38,900 39,900 A1,000
307 el2to| & 38,900 39,900 1,000
02 2B YAIAE £ 38,900 39,900 1,000
Oz Ml 2,600,000& 2,600
OFES SHla &l 12,000,000& 12,000
OHFZEAL Xl 2,000,000 2,000
OB A &S Al 2,200,000 2,200
OFS At &Nl 2,000,000& 2,000
Od=2SAE M 1,900,000& 1,900
OHPAESSA =2H 2,100,000& 2,100
Ofts ) AFHM(E,F) 7,200,000 7,200
OF=35 0|0l =28
2,000,000& 2,000
OFZAL etz4! Ml 2,900,000& 2,900
ORIE8 2F A= Ml 2,000,000 2,000
HSME SMAIAE SN2 62,000 44,000 18,000
= 31,000
Al 15,500
s 15,500
401 AIEHIZ SR OHYI 62,000 44,000 18,000
= 31,000
Al 15,500
[Ea 16,500
01 A28l 62,000 44,000 18,000
OTSAHE SMAIAE R
62,000,000 62,000
= 31,000
Al 15,500
Ea 16,500
HEHNE 2dst 31,086,974 19,876,358 11,210,616
Il 571,142
Al 920,738
o 29,595,094
H=gs & A2 6,496,003 6,369,051 126,952
Jl 571,142
Al 920,738
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FA: 2eMSs
M MEIS B8
el HSgs & AR (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02z 2 2+84+R
529,000,000& 529,000
Al 100,000
Ea 429,000
(OLIES=) 30,000,000& 30,000
On =l 25,000,000 25,000
O2sE3H & 2] 53,500,000 53,500
Ost=agAd A3l 3,000,000& 3,000
Olizlge Za=s 25,000,000& 25,000
Ota &2t 76,800,000 76,800
SEl 64,600,000 64,600
OAlHI 67,200,000& 67,200
Od=HME XE= 3,000,000& 3,000
OFMH! HAALXE 2H 630,064
oss 328,233
o= 3,941,100« 18~ 12& 47,294
o X 3,121,300« 1H* 123 37,456
o = 3,381,700 6H*12& 243,483
Al 85,000
s 158,483
od2=g 15,641
o= 3,941, 100 x40 1 H*22] 3,153
o DAl 3,121,300 +5i 1 x23] 313
o 3,381, 7002 x30%+6H <22 12,175
Od2+ditit= 50,0002 x4 122 2,400
OJ&E=g 40,0002 x3&* 122 1,440
(OFSR= ]l 140,000 x8& * 12 13,440
OF=F{:] 8,0003x6H *17&x 122 9,792
Og&E=Itd| 32,825
o= 3,941, 1002 x60%* 1 <22 4,730
22X 3,121,300 60 1 H *22] 3,746
o == 3,381, 7002 x60%+6H <22 24,349
OolBAE
328,231,200 *1/12+86%+1/30%x 102 x80% 6.273
OXg 2 x| 156,120
INE-IN; 165,000 x2&« 123 3,960
o == 155,000 x6& * 122 11,160
Ogd=dg 20,400
INE=IN; 250,000 x2E 128 6,000
S 200,000& x6E «12& 14,400
OXl=Xt=& 100,000 x2&* 12 2,400
OX= Xt g=H| 500,000 2+ 122 12,000
OZtAlH| 50,0003 8L 128 4,800




2A: SSM=
M MBS EA5
=2l MSEsS % AMNE (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
Os+t+ Feiag
500,000& x6H x 12& 36,000
[OEES= 5,000,000& 5,000
(@I E==1s] 27,000,000& 27,000
OS2=sEEH| & 92| 8,300,000& 8,300
Ot al ZAZ 35,000,000& 35,000
OUE&I1AH] 53,000,000& 53,000
Od=2HMAE K2 1,000,000& 1,000
OMEL 2H 2,111,800
OdsE ¥ 264 KX
1,494,000,000& 1,494,000
Al 500,000
= 994,000
[OEES= 79,000,000& 79,000
(@I E==1s] 30,000,000 30,000
O2=sEE ¢ 22| 48,000,000 48,000
O3 YA LZAS 60,000,000& 60,000
OUE&I1AH] 140,400,000& 140,400
O=zdd| 59,400,000& 59,400
OAM| 198,000, 000& 198,000
ON=ZHAEX= 3,000,000& 3,000
405 KM SHI 75,000 75,000
01 AL =2 SF S| 75,000 75,000
OMEE =4 HIE 2 75,000
O 850,000 = 161 13,600
O&FFHME 160,000 * 164 2,560
OAlEH(401) 600,000 *6H 3,600
OATIH40!) 2,500,000 *4H4 10,000
OHI0I=(491) 590, 000& *4H 2,360
(@raE~pl 1,500,000 *1JH 1,500
OHMNIED| 1,840,000 x20H 3,680
O 1,700,000& *3JH 5,100
OMYD| 2,500,000 & *1CH 2,500
OH&EN 2,500,000& *27H 5,000
OZXH&ED 1,000, 000& *20H4 2,000
QOBHEHHALCH 1,100, 000& *2JH 2,200
OADIMED| 1,800,000 *2JH 3,600
OFAD| 400,000& =44 1,600
OB EH 1,400,000 *30H4 4,200
O2JI183D| 500,000 1694 8,000
O=& 1,750, 000& =2CH 3,500
2F2H=ss Nd 441,379 475,322 N33,943
307 21Z2H0| & 441,379 443,322 N 1,943




A EstM=s
M MEIS B8
el HSgs & AR (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
03 QSN EHE 22X 431,379 427,022 4,357
o=+ H=2 28X
431,379,000& 431,379
04 CIZFHAIAIS B 10,000 10,000 0
OodaN=A=L /A3E 10,000,000 10,000
HAERE K& 45,000 45,000 0
307 212t01& 45,000 45,000
02 QIRIHAANGEE R 45,000 45,000
0232 USRS XK
45,000,000 45,000
MEH S X2 100,286 100,286 0
Al 10,143
Ea 90,143
307 el2to| & 100,286 100,286 0
Al 10,143
o 90,143
02 QA HAIEE X 100,286 100,286 0
OdEMsuNa XA 100,286,000 100,286
Al 10,143
o 90,143
020l Msua X 4,320 4,320 0
Al 2,160
[ia 2,160
307 212t01™ 4,320 4,320 0
Al 2,160
Ea 2,160
02 QI AEANEEX 4,320 4,320 0
O0el0l Hsud 4,320,000& 4,320
Al 2,160
s 2,160
4 HE na K& 4,320 4,320 0
Al 2,160
s 2,160
307 212t01™ 4,320 4,320 0
Al 2,160
[ia 2,160
02 QIS EXR 4,320 4,320 0
OFAH MW 4,320,000 4,320
Al 2,160
Ea 2,160
Y==H=0s X2 3,960 3,960 0
Al 1,980
[Ea 1,980




2A: ZAHS U
M MBS EA5
el Ms2s Y ALK (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 3,960 3,960 0
Al 1,980
= 1,980
02 QIZHBAAIE E X 3,960 3,960 0
oF=HM=sUs 3,960,000& 3,960
Al 1,980
o 1,980
MEHSA A IX(2SXI) 679,138 652,352 26,786
| 233,376
Al 147,988
[ 2R, 774
307 212+01™ 679,138 652,352 26,786
| 238,376
Al 147,983
= 292,774
02 QIZHBAAIEE R 679,138 652,352 26,786
OMEMSXZA BIX(ESXI)
679, 138,000& 679,138
| 238,376
Al 147,988
= 292,774
ARAHO0IEH KA 397,860 204,000 193,860
J| 278,502
Al 59,679
= 59,679
307 212+01 A 397,860 204,000 193,860
| 278,502
Al 59,679
= 59,679
02 QIZHAAAIEER 397,860 204,000 193,860
OAEZ=AR0IEH XA
397,860,000& 397,860
| 278,502
Al 59,679
= 59,679
SOOI AZ=2AR0|SH KA 77,520 17,000 60,520
| 54,264
Al 11,628
= 11,628
307 QIZ2t01 A 77,520 17,000 60,520
| 54,264
Al 11,628
= 11,628




2A: ZAHS U
M MBS EA5
&elr Hsgs & AKX (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
02 QIZHAAAIEER 77,520 17,000 60,520
OFMAIAZ=2AXO|IBH XA
77,520,000 77,520
| 54,264
Al 11,628
= 11,628
=8 2108 XA 202,600 196,600 6,000
307 212+01™ 202,600 196,600 6,000
02 QIZtBAAIE E R 12,000 12,000 0
OX=HA XA 12,000,000& 12,000
04 QIZISHAAIS E X 190,600 184,600 6,000
o==J| =703 16,600,000& 16,600
o==J| S&U3 6,000,000& 6,000
O==J| HLIANS 7,000,000& 7,000
O==J| HOIESUHS 6,000,000& 6,000
O==J| BHERIE ]2 13,000,000& 13,000
oO==)| &3 13,000,000& 13,000
o==I| ERUSE 6,000,000 6,000
o==J| 223l 7,000,000& 7,000
O==D| ti=2tHal 6,000,000& 6,000
O==J| stz 6,000,000& 6,000
O==I| O3l 6,000,000& 6,000
OZ=J| SHEHAl SOISHOIEZSUE
6,000,000& 6,000
O==J| IHHZ22H0IZ S
6,000,000& 6,000
o==J| B&U3 6,000,000& 6,000
oI =33 6,000,000 6,000
O==J| 2|53 6,000,000& 6,000
O==I| AFAIU2 6,000,000& 6,000
O==J| WIASZH3 6,000,000& 6,000
oI SAUSE 6,000,000& 6,000
O==J| B=E7UHS 6,000,000& 6,000
o==J| E2gJIt3l 6,000,000& 6,000
OT=J| HAATZX[Y3 6,000,000& 6,000
O===J| st=2al 6,000,000& 6,000
O==I| RIS 6,000,000 6,000
OzZ=J| EHAEU3 6,000,000& 6,000
O =D MEXZHS 6,000,000& 6,000
O==J| Z2E0El 4,000,000& 4,000
o= SAUE 4,000,000& 4,000
MEHS 2435 X3 295,600 297,885 N2,285
203 RF=&Y| 1,000 1,000 0




FA: 2eMSs
M MEIS B8
el HSgs & AR (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 1,000 1,000 0
OMEHS BH5 BY YPEX
1,000,000& 1,000
307 gl2to| & 294,600 293,285 1,315
02 QIZHEAAEE X 54,500 58,000 23,500
ONIHS(HOHQELE) SN
31,500,002 31,500
ORAHSS U RUHAEXI
23,000,000 23,000
04 CIZHHAMAIH 2 & 240,100 235,285 4,815
OANSMEHSHES 96,500,000 96,500
OHM=zl atg etire 24,000,000 24,000
OSFZH=FL & & RS Alata
30,000,000 30,000
OHOIEZBE B3|
3,600,000& 3,600
OSFRHSIYI| MEHSH3
56,000,000 56,000
OSY M=3 storsHaie
30,000,000 30,000
d=20zl Wz X 333,200 351,908 18,708
307 glztol & 333,200 351,908 A18,708
04 CIZHHAMAIH 2 & 333,200 351,908 A18,708
Od= S5t F7 AEE ] W2
90,000,000& 90,000
OUER d=30NUFFUE
75,000,000& 75,000
OSFzetl 8=AEX=ZcH0/2LUZ
80,000,000 80,000
ogggoA M=MB ZelX
88,200,000& 88,200
AEXZSO MSAIE AIEZ K& 94,500 94,500
307 @120l & 94,500 94,500
02 QB HANEE R 94,500 94,500
OAE= S22 MSAIE AHEZ K&
94,500,000 94,500
H=AE 28 & 2el 24,590,971 13,507,307 11,083,664
MEH AL & 264,000 252,800 11,200
203 HR=H] 1,000 1,000 0
03 A=A R =NH] 1,000 1,000 0
OUENMSAIE EX2e RN
1,000,000 1,000
207 ARl 13,000 13,000
01 Sl 13,000 13,000
O=+3EHSHH 28 BEgd H7EY
13,000,000& 13,000




2A:

EcIpS (el

Hu: MBS 243
ool FSAL H7 2 Bl (el =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 250,000 251,800 1,800
01 Al&H| 250,000 250,000 0
ORTHSME 2B JI=HE +8 L Al
Eted A ES 100,000,000 100,000
O== WI=ZF JHgNe1S 2| A=
=8 E9 100,000,000 100,000
OUER S 0 E HE AMBEISE A
= 50,000,000 50,000
HEHSAE A 2c 9,762,662 4,432,418 5,330,244
201 Ler23| 225,250 271,550 46,300
01 At2teltl 100,000 95,390 4,610
OdEMSAIE FA2e 225 72
6,000,000& 6,000
OAZ MSAE 2B LXR
94,000,000 94,000
02 S5=24g4l 125,250 176,160 A50,910
OZU MSAE 2223
120,000,000 120,000
OSENOIEZE A otd 22|
2,640,000& 2,640
OSEN0IESE &IIetA 22|
2,610,000& 2,610
307 elztol & 150,000 150,000
05 2ItRIE = 150,000 150,000
OdEH=AE 2¢ 150,000,000 150,000
309 HES 2,028,267 1,919,344 108,923
01 SAt- SHEYNES 2,028,267 1,919,344 108,923
OoAlg2elsH MSAE 24
2,028,267,000& 2,028,267
401 Al HIZL R 0HHI 7,100,145 1,846,624 5,253,521
01 Al&HI 7,077,000 1,840,000 5,237,000
O2UY 2% AXXC wH
1,900,000,000& 1,900,000
OBANMEN=SE 0124 EXHLY
143,000,000 143,000
OZU =25& X8 WHMSAt
300,000,000 300,000
Oo0te23I|7 HISA
400,000,000 400,000
OUENMSAIE 2a8 FAE SA
400,000,000 400,000
OZU MEAIE L SHAE0(J| £X
150,000,000& 150,000
OHYNOIESE 2 i ZBISA
180,000,000 180,000
O2¢ Gl OFAMSAIZ ZHISA
90,000,000& 90,000




FA: 2eMSs
Hu: METS S5
ool FSAL H7 2 Bl (el =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2UZAMSHE dted)| 2t SAF
320,000,000 320,000
oddg Il HOIE=E FEISA
294,000,000 294,000
OHEHZAIE MOl JUISA
250,000,000 250,000
OB HSAE FOIT BHA &3
1,900,000,000& 1,900,000
OUER AX=MIT HHISA
600,000,000& 600,000
OgAAS HUAZ HS ZHISAH
150,000,000 150,000
02 Zeld| 5,810 0 5,810
O&t BI| HOIEST FHIZAF 22lH
5,810,000& 5,810
03 Al THYI 17,335 6,624 10,711
OAIZ=20HHI 6.934,000,0002 %0.25% 17,335
404 SANBHI=HES 259,000 244,900 14,100
01 SAl- SEHIH=NES 259,000 244,900 14,100
OAlZ22I3H M=SAIE 2
259,000,000 259,000
242eHsHE 24 3,084,907 2,902,736 182,171
308 AHAIEMSOIH 630,864 583,768 47,096
1 SIS0t HAS A 630,864 583,768 47,096
o2¢=zstMsdH 228 29
630,864,000 630,864
309 HES 2,264,537 2,194,868 69,669
01 SAL- SHBYHES 2,264,537 2,194,868 69,669
O2¢=EsMEdH =29
2,264,537,000& 2,264,537
404 SAEEH = ES 189,506 124,100 65,406
01 SAt- SHAZ2HES 189,506 124,100 65,406
O20SHHSHE 29
189,506,000 189,506
SFZ=UMSsHH 29 3,193,717 3,203,353 N9,636
308 AtXIEMSOIE 766,341 795,646 229,306
11 S| 2SO0 UeZ XA AIE 766,341 795,646 A29,305
OsF=Z=UMSHH 228 23
766,341,000 766,341
309 == 2,268,776 2,276,957 28,181
01 SAL- SHEYTES 2,268,776 2,276,957 A8, 181
OSFZUNSHH 2¢
2,268,776,000& 2,268,776
404 SAISEH=EES 168,600 130,750 27,850
01 SAt- SHA2NES 158,600 130,750 27,850




2A:

M MBRS 243
ool FSAL H7 2 Bl (el =)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CEEEETRPENTZEL
158,600,000 158,600
PSSR TH(ASH) 4,460,800 2,550,000 1,910,800
401 Al&HIZ S| 4,460,800 2,550,000 1,910,800
01 Al&H 3,650,000 2,550,000 1,100,000
OPYSST FHAIY B
3,000,000,000& 3,000,000
OTg2sd TdAE EXI0HEH
650,000,000 650,000
02 Zeltl 800,000 0 800,000
OTE2EE ZHAM Lell
800,000,000 800,000
03 Al = THHI 10,800 0 10,800
OAl4 I 10,800,000 10,800
HAHOIESEH TS 674,885 0 674,885
401 AIEHIZL SO 674,885 674,885
01 Al&HI 660,000 660,000
OALNOIESY TEAIE SAHI
650,000,000 650,000
OASNOIEEY ~HAE 2 NHZAL
Sl 10,000,000 10,000
02 Zeltl 10,790 0 10,790
OALNOIESE =& A Zeldl
10,790,000 10,790
03 Al 20HHI 4,09 0 4,095
OAIE20HbI 4,095,000 4,09
HA PE AHERIEE A= (3H=H]) 1,800,000 166,000 1,634,000
401 A& HIX R0 1,800,000 166,000 1,634,000
01 AlZH| 1,800,000 166,000 1,634,000
O"gAM 7 AUHHERIEE EXI0HYH
1,800,000,000& 1,800,000
8A S& F2lZ2 gAY 1,100,000 1,100,000
401 AlEHIY 20 1,100,000 1,100,000
01 Al&HI 1,100,000 1,100,000
O8N S& FclZ ZdAE EXI0HEHI
1,100,000,000& 1,100,000
AUEILIAE A 250,000 250,000
401 AlEHIZ R0 250,000 250,000
01 Al&H| 250,000 250,000
OAUHILIAY &AM £
250,000,000 250,000
HYAE= 43} 1,166,485 594,840 571,645
Al 65,000
= 1,101,485
oHAAE = SHH3 X 1,166,485 594,840 571,645




FA: 2eMS
B HYAEE S5
el HYAX=x 245 XA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 65,000
s 1,101,485
Mot MHE A 2 (HEA) 51,390 51,390 0
Al 15,000
= 36,390
201 Let=23 | 21,390 21,390
01 AtR2te|Hl 11,390 11,390
Odficl MaE A2 3 2o =
000 *7& 13l 490
OofiZellMMegns s 22 M 4,900
O&SX M= 1502%10,000& 1,500
Og2=3 7¢ 3,400,000& 3,400
Ol e 28=5 +
6,000,000 6,000
02 s3=gHl 10,000 10,000 0
o= MSHEE= 10,000,000& 10,000
307 glztol & 30,000 30,000 0
Al 15,000
= 15,000
02 2B YA HE X 30,000 30,000 0
Ot el MEua 24
30,000,000& 30,000
Al 15,000
o 15,000
ofetcllMd Obtolol 24 30,000 30,000 0
307 @I2t01 & 30,000 30,000
02 QIRIHAANSEE R 30,000 30,000
Odlefeilxl OFtuI0l 2¢
30,000,000& 30,000
ST E=22AEHE 47,700 47,700
307 elztol & 47,700 47,700
04 CIZHHAMAIH 2 & 47,700 47,700
O=xz)| d=2ENEUE
47,700,000 47,700
= HdEZ=ME 2 762,3% 190,750 571,645
201 fer=3| 138,795 65,750 73,045
01 AtR2te|Hl 46,300 46,300 0
OXD|tM 2| S A
5,800,000 5,800
OsZIIRA2c| S A
2,000,000& 2,000
O otM 2| 2,500,000 2,500
O=2&s e SRl 13,000,000 13,000




FA: 2eMS
B HUAEX BAS
el GHYAE= EHG XA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o & AFE &% 2
10,000,000 10,000
Ol MEUAL AIE= 2RI
5,000,000 5,000
Ol & Al 2el 8,000,000 8,000
2 S5=24g4l 92,495 19,450 73,045
Ogx=tie SHall| 11,495,000 11,495
OATE AEEHIRA 9,000,000& 9,000
OHlH s&2= EF 72,000,000 72,000
401 AIEHIZ SR THYI 623,600 125,000 498,600
01 AlZ8| 620,000 125,000 495,000
OSFoHLcllE=ME AEES=3A
620,000,000 620,000
03 Al 20HHI 3,600 0 3,600
OAIE20HYI 3,600,000& 3,600
SFidlE= = 275,000 275,000 0
Al 50,000
o 225,000
307 @120l & 275,000 275,000 0
Al 50,000
o 225,000
04 QIZHHAIAIH E X 275,000 275,000 0
O=FolYdE= =N
275,000,000 275,000
Al 50,000
= 225,000
HH2LZHI(2EH=FD) 246,341 247,265 A924
oIH2IHI(2HMSY) 163,709 162,133 1,576
A2 IHI(2MS L) 163,709 162,133 1,576
101 e124d| 162,081 160,610 1,471
01 2= 119,761 117,846 1,915
OAlIRAZ 25
12,3213 %451 2Hx18EH « 12 119,761
02 JIEtME = 42,320 42,764 N444
SS (AR IIM 0F=2)
34,000,000 *1H 34,000
O (AL EAI M OH=) 3,120
OtE+¢ 1,440
BH <> At 40,0002 x1&* 122 480
. Bl 80,0002 x1&* 12 960
OF A S A 140,000 x1&* 122 1,680
O I AHI (AR BADIH OF=)
34,000, 0002 *1/12+86%+84%+1/30%1/7+106 A1 2 1,024




SN 23S
. HY2IZH(2SHE)
SR CIAERH|(2SHS) (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OANZIRA2R4E(AIZHAERAT R 012)
9, 160& *25 A 2h 1« 123 2,748
OS+ARS(AIZHEEADI N 0H2)
34,000,000 *1/ 122 *B4%+5k%+ 124+ 122 1,428
204 P AH| 1,628 1,523 105
02 232X 1,628 1,523 105
OAIZHEEADIN Ot=
155,000 *35/40+x 15 12& 1,628
(2231 82,632 85,132 22,500
Jl2ddl(2sM=1 82,632 85,132 22,500
201 B2 AH| 32,832 33,832 A1,000
01 AtR2elt] 32,832 33,832 A1,000
Og =2l 9,120
OsHH&=2H 9,120,000& 9,120
O=&hl 8,000 *19H 1341 x 123 23,712
202 0idl 45,600 45,600
01 =WO4bI 45,600 45,600
OZLHHI 200,000& x19H x 123 45,600
203 YRF=&IH| 4,200 4,200
M FA2LHRFAHI 4,200 4,200
ORNZIURFAI 350,000& =123 4,200




